ASSEMBLY INSTRUCTION

ATTENTION:
1. Please read these instructions carefully before assembly.
2. Aluminum is soft metal, over tighten may strip thread or break the part.
3. DO NOT use power tools.
List of Parts for Assembly
No | Parts  Description Qty No | Parts  Description Qty
A Table Top 1
B Table Legs 2
c | Connector Ring 1
D | Bolt (M6*20) 16
E | Washer 16
F Bolt Cap 16
G | Allen Key
H | Foot Cap 4 N
| |Unbrella Cover
J

HA-2040-TL

o

0)mm (M6*20)

=

1. Place all parts on a clean soft surface.Make sure
you have all parts and hardware as identified on
the part list.

2. Lay the table top(A) on a flat, non-abrasive

surface. Attach table legs(B) to table top by using
bolts(D) and washers(E).Do not tighten all bolts.

3. Reverse the table top upright position. Tighten
all bolts (Do not over tighten) and cover them

with the bolt caps(F).
Now your table is ready for using.

> DO NOT OVER TIGHTEN

> NO SOCKET DRIVERS

-
3

)
(( v
i
1
1
&
fo socket driver:

: NO POWER TOOLS




ASSEMBLY INSTRUCTION

ATTENTION:

1. Please read these instructions carefully before assembly.

2. Aluminum is soft metal, over tighten may strip thread or break the part.
3. DO NOT use power tools.

List of Parts for Assembly

Parts  Description Qty No | Parts  Description

Qty

Chair Frame Foot Cap

- | X

Chair Base Seat Cushion

METAL PLATE M Back Cushion

Bolt(M8*40)

WASHER

SPRING WASHER

NUT

BOLT CAP

NUT CAP

|- IT|O|MmMm|O|0 W |>
N N N N N N N Y Ll L

WHENCH

C
p (PIMD (M8*40)

E

il@é)@@@

1. Place all parts on a clean soft surface.Make sure | 2. Attach the chair frame (A) and base (B) by
you have all parts and hardware as identified on using metal plate (C), bolts (D), washer (E), spring

the part list. washer (F), nut(G). Hands tighten only.

3. Tighten all bolts by using whench(J) but do not

over tighten, then cover them with the bolt caps
and nut caps, reverse it upright position.

Now your chair is ready for using.

> DO NOT OVER TIGHTEN

-
3

)
(( v
i
1
1
&
fo socket driver:

> NO SOCKET DRIVERS

: NO POWER TOOLS

no power tool.




